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Section—1 (General English & Hindi)

Complete the sentences by choosihg appropriate words which would fit in the blank
space from the choice given below at each question.

1. This practice was brought to prevent certain abuses.
(a) down
(b) off
(c) about
(d) in

.l Her true feelings manifested themselves in her sarcastic remarks, only then her
revealed.
(a) charm

(b) sweetness

(c) poise

(d) Dbitterness

3. The book provides an overview of European wines that should prove inviting to both the virtual
............................ and the experienced connoisseur.

(a) Zealot
(b) Glutton
(c) Prodigal
(d) Novice

Choose the one which best expresses the meaning similar to the given word.

“ Garble
(a) Confuse
(b) hide
(c) communicate
(d) explain

5. Pinnacle
(a) Capsule

(b) depth
(c) summit
(d) pit
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6. Brutalize

(a) Stir
(b) ill-treat
(c) devise
(d) strike

v Sunita bore the pain with great fortitude.
(a) indifference
(b) defiance
(c) resignation

(d) forbearance

8. Impervious :
(@) Audacious
(b) Haphazard
(c) Impenetrable

(d) lllogical

Choose the word opposite in meaning of the given word among the following choices.

9. Denounce

(a)  Signify
(b)  confirm
(c) grant
(d) praise

10.  Many snakes are innocuous.
(a) ferocious
(b) deadly
(c) harmful

(d) poisonous
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11. Cease
(a) Abandon
(b) mitiate
(c) confront
(d) confiscate

12. Seamy
(a) Honest
(b) pure
(c) unpleasant
(d) sincere

13. His thoughtless remark added fuel to the fire.
(a) Added humour to the situation
(b) Worsened the difficult situation
(c) Helped inimproving the situation
(d) Prevented the situation

Read the passage carefully and choose the best answer to each question out of the
four alternatives given below at question no. 14 to 15.

He waited a moment in surprise wondering why she did not come nearer, and then
maddened by anger, he directed at the fish. With a loud scream he fell outwards and downwards
into space. His mother had soared upwards. As he passed beneath her, he heard the swish of
her wings. Then a monstrous terror seized him and his heart stood still. He could hear nothing.
But it only lasted a moment. The next moment he felt his wings spread outwards. The wind
rushed against his breast feathers, them under his stomach and against his wings. He was not
falling headlong now. He was soaring gradually downwards and outwards. He was no longer
afraid. He just felt a bit dizzy.

14. The young seagull dived at the fish.
(a) Maddened by anger
(b) maddened by want
(c) outofspite
(d) outof loneliness

15. His heart stood still because he was seized by :
(a) A monstrous fury
(b) courage
(c) a monstrous terror
(d) Jjoy
| P-D/S-I e ] 3




(Hindi Section)
16. HF" ¥ F1 A —

17, AT UG o | A G |

18. ST A Y IR —
(@) SILIWIEAR YR & |
) 3T § gawford 9y B B T E |
(c) 94 UBTST IR TTHHN JURUTT BT & |
) &% Pl EqrcaTfed el BIl Afey |

19. 9 o1 &1 a1 og B

20. Y& g DI AT DI —
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21

22.

23.

24.

25.

“ACCOUNT” &1 f2=l erearared! 9a1sy —
(@) oI

(b) Tgom

(c) erEnT

(d) <ETBR

11 AIRE BT R 1 3 B |
(@) I BT

(b) BRI

(c) =B

(d) RS

w8 fadeu gHY I g 7 forfay —
'3’ YCITER @ Jf=Tiie A aTel avf 2 |
(@) %9 F T

(b) %S

(c) AAT

(d) ISk

AT STl T BeThd W dArliae &1 aref ¥ | —
(a)  3TEN T XTI |

(b) e el fRT |

(c) et eIfd e ueei= FRal ¢ |

(d) femar &

e o1 faerH v fafed ST |
(a) oraTdEr
(b) foremer
(c) amerg
(d) froe
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Section—11 (.Numerical Aptitude and Reasoning)

Find the missing term (?) that will complete TH 37 3 (?) ST e COR DS
the series :
26. 5,6,9,14,7 26. 5,6,9,14,7
(@) 26 (b) 28 (a) 26 (b) 28
(c) 30 (d) 34 (c) 30 (d) 34
27. There are deer and peacocks in a zoo. By 27. U fafgamer # f&vu AR AR T | R e
counting heads they are 80. The number R q 80 | S @ W= 200 € | g fha=
of legs is 200. How many peacocks are qR e :
there : (@) 60 (b) 50
(a) 60 (b) 50 (c) 20 d) 30
(c) 20 (d) 30
then what is 64 —4 =7 81-1=8, a964—-4="2
(@ 4 (b) 2 (@) 4 b) 2
(c) 6 (d) 8 c) 6 d) 8
29. Find the missing character in each of the 29. =1 u® UE A, ? 37 BT T B
following questions :
? 13 49
? 13 49 9 17 69
9 17 69 13 11 59
13 11 59
(@ 9 (b) 5
@ 9 b} ® () 10 d) 21
(c) 10 (d) 21
30. Choose the odd numeral pair/group in each 30. o ya® ued H, fww g 3 /998
of the following questions : gﬁ
(@) 8-15 (b) 25-36 (a) 8-15 (b) 25-36
(c) 49-64 (d) 81-100 (c) 49-64 (d) 81-100
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3.

32.

33.

34.

35.

The sum of all the 3 digit numbers which at.

are formed by the digits 1, 2 and three
without repetition of digits is : |
(a) 1233

(b) 1321

(c) 1323

(d) 1332

(e) None of these

In a company 60% workers are males. If . A

the number of female workers in the
company is 800, what is the number of
male workers in the company :

(a) 1600

(b) 1400

(c) 1900

(d) 1200

Evaluation : (2.39)? - (1.61)? 33.

2.39-1.61
(@)
(b)
()
(d)

o O BN

If2994/14.5 =172, then 29.94/1.45="7 34.

(@) 0.172
(b) 1.72
(c) 17.2
d) 172

(25" + 252 + 253 + 255) is divisible by — 35.

@@ 25
(b) 58
(c) 124
d) 127

1, 2 3R 3 il A AT by faer a1 3
(a) 1233
(b) 1321
(c) 1323
(d) 1332

(e) T ADIE T

T B 7 60% HHARI JoU & | AT Afeel
HHATRET B = HHIHI H 800 & T HI
ﬁg%‘q HHATRAT B & 8

(@) 1600

(b) 1400

(c) 1900

(d) 1200

g BN (2.39)2—(1.61)
2.39 - 1.61
(a)
(b)
(c)
(d)

o o B~ N

f& 2994/14.5 = 172,129.94/1.45 =7
(@) 0172

(b) 1.72

(c) 17.2

d) 172

(251 + 252 + 253 + 255) WY .
(a) 25

(b) 58

(c) 124

(d) 127

[P-DIS-I [

sessssssaes




36. Anpositive numberwhendecreased by4is  36. ! 4 A& H W 4 ™ U 98 30
equal to 21 times reciprocal of the number. YohH A1 BT 21 AT B AR & | FE@
The number is - 2 —
(a) 3 (a) 3
(b) 7 (b) 7
(c) 5 (c) 5
(d) 9 (d) 9
37. These two consecutive natural numbers, ~ 37. &) HANT Urebe G foreas aoif 7 27 25
sum of whose squares is 25, are - 2, Bift —
(@ 2,3 fa) 2,3
(b) 3,4 (b) 3,4
(c) 4,5 (c) 4,5
d 1,4 d) 1,4
38. If 142 Nis divisible by 12, thenwhatisthe  38. Ifd 142 N, 12 ¥ ¥s¥ & &1 N &1 719
value of N g —
(@) 2 (@) 2
(b) 4 (b) 4
(c) 6 (c) 6
d) 8 d) 8
39. 199994 x 200006 = ? 39. 199994 x 200006 = ?
(a) 39999799964 (a) 39999799964
(b) 39999999864 (b) 39999999864
(c) 39999999954 (c) 39999999954
(d) 39999999964 (d) 39999999964
40.  If(36-16x)—(4x—8)=4,thenthevalueof ~ 40. AfX (36 — 16x) — (4x — 8) = 4 QY x BT 7
X is BT —
(a) 4 @) 4
(b) 2 (b) 2
(c) 6 (c) 6
(d) 3 d) 3
| P-D/s-I L l 8|




41.  The value of - 41, 2600 + /540 + 1280 + 36 PTHF 8 —
V4600 + /540 + 41280 + /36 (a) 69
(a) 69 (b) 68
(b) 68 (c) 70
(c) 70 (d) 72
d) 72
42. A fraction is greater than its reciprocal by 42, T e ST EN % 71 2 8 A
9 3
20" what is the fraction - FE —
5 3 4
@ 3 ®) @ | (b)
3 4 3 4
() @ 3 © 5 @ 3
1 |
43 Ifx=(y/3 +1)" then (x*~ —5)="? 43. Wx=(3+N)PAMK-7)=7?
3-43 V3 3-43 V3
@ 5= O 5 Gl %
3 GB+43) 3 (3+43)
(c) 5 (d) e O (c) 2 (d) 5
44, 1f693.5—(47.23—x)—8248=8.172,then  44. TR 693.5-(47.23-x)-82.48=8.1727
s X BTAF B ?
(a) -720.578 (a) —-720.578
(b) -555.618 (b) —-555.618
(c) -650.078 (c) -650.078
(d) 831.382 (d) 831.382
45, Thevalueof 22+ 62+ 102+ 142—12—-52— 45, 22+62+ 102+ 142 - 12 - 52— 92— 132 I
92 132is =7 A E —
(@ O (@ O
(b) 15 (b) 15
(c) 30 (c) 30
(d) 60 d) 60
[P-DIS- | 9
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46.  Simplify : 46. YA B :
( (.73) +(.27)° J " (.73)* +(.27)° J i
(73 + (27 - (73)x(27)) ~ ° (.73)* +(27)* - (73)x(27))
@ 1 ' @ 1
(b) .4087 (b) .4087
(c) .73 (c) .73
d) .27 d) .27
47. Three numbers are inratio 1:2:3and sum ~ 47. 3 W3 &1 U 1:2:3 & qoI ITP
of their cubes is 4500. The smallest B 1 AT 4500 2 | Ga B He=m w®
number is. BAf ?
(@) 4 (a)
(b) 5 (b) 5
(c) 6 fcy ©
(d) 10 d) 10
48. What is the sum of all prime numbers ~ 48. 6031 80 ® 7 ¥} Prime Numbers @7 2T
between 60 and 80 ? &1 ERT ?
(a) 272 (a) 272
(b) 284 (b) 284
(c) 351 (c) 351
d) 414 (d) 414
49. When nis divided by 6 the remainderis 4.  49. Wan®l6 AW & 1 994 U 2T |
When 2n is divided by 6 the remainder s - STd 2n D1 6 | 9T S A1 99 7 YT BT —
(a) 4 (a) 4
(b) 1 (b) 1
(c) 2 {c) 2
(d o (d) o0
50. Whatis LCM of 64, 128, 1024 and 512 - 50. 64,128,1024 (4512 BT AHH. R & ?
(a) 4096 (a) 4096
(b) 2048 (b) 2048
(c) 1024 (c) 1024
(d) 3072 (d) 3072
| P-D/S-I [ 10]




Read the following and answer the
questions at S.No. 52-53 below:

for<1 @1 U2 3 SR 2 : U HHI®
52-53 f+1 :

51. 1. P, Q,R S,TandUaresixmembers 51. 1. P, QR S, T3RUT®H IRAR & 6
of a family. Out of six members. WER ¢ |
2. There are two married couple among 2. sHAIfERaASE |
them. 3. R, PTaU & farg aen T, R &I Al
3. Ris the father of P.and U and T is % |
mother of R. 4. P Q@IUNEI
4.  Pis granddaughter of Q.
52. Howis U related to P ? 52. U 3R P A ®ITE=H & —
(a) Sister (a) d8d
(b) Son (b) 93
(c) Daughter (c) A
(d) None of these (d) STH A PIS A8
53.  Which of following pairs is one of the  53. fy=ifeiRad # & & W1 JoU USRI & A9
married couples - g -
(@) TU (a) TU
(b) QS (b) QS
() | TG (c) TQ
d) PU (d) PU
54. What will be the missing number :- 54. faqqa wive & B
2.7,14,.23, 2, 47 2,7,14,23,7,47
@@ 31 (@) 31
(b) 28 (b) 28
(c) 34 (c) 34
(d) 38 d) 38
55. In a class of 100 students, 50 students  55. 100 BT @ Ud el H, 50 BT TOT A1 70
passed in Maths and 70 passed in English, B3 IS # Iol gY | 5 BT aI41 favai |
5 students failed in both Maths and English. 3wl gY | faam B Q1 fawal § Switol
How many students passed in both gl |
subjects ? (a) 50
(@) 50 (b) 4
(b) 4 (c) 35
(c) 35 d) 25
(d) 25
I P-D/S-I I I 11 I
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56.

57.

58.

59.

60.

(104)° — 64
Solve 104y + 16+ 416
(a) 100
(b) 10
(c) 110
(d) 120
The sum of two numbers is 8. If their sum

is four times their difference, find the
smaller number.

(@ 3
(b) 5
() 2
(d) 4
Solve : 05+l+£+025
olve : ; 25 X
11
(&) = (b) 275
4
3
(c) 33 (d) Allofabove
2 4 1l ‘16
: o oy we ) o "_}_, _—, —
Find ? Number : 3' 7 Y o1 31
5 6
@ 5 ® 4.
X 9
© 3 )
2,8,168,128. 7
(a) 2042
(b) 2046
(c) 2048
(d) 1024

56.

57.

58.

59.

60.

(104)" — 64
R BT (104)% +16 + 416
(@) 100
b) 10
c) 110
d) 120

&1 G B A 8§ | Afy ST A
ST IR BT AR 1 & 01 B1E) ey aarai |
(@ 3

(b)
(c)
(d)

A N O

1 3
BADIN: 0.5+ e +0.25

11

@ (b)

2.
i 75

) 33— (d) Allof above

€ = (d)

2,8,18.128. 7
(a) 2042
(b) 2046
(c) 2048
(d) 1024

LP-DIS-I
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62.

63.

65.

2 3 4 5,
JiT 8 S 2N

6
(a) 55

6
(b)E
(c) 6

b

@ %55

Which term of series 5, 10, 20, 40
is 1280.

(@) 7

(b) 8"

(C) gth

(d) 10%

3.10,29,68,127,7
(a) 164
(b) 187
(c) 218
(d) 216

2,12, 36, 80, 150, ?
(a) 194

(b) 252
(c) 210
(d) 258

Find wrong term in series 196, 169, 144,

121, 101
(@ 196
(b) 169
(c) 101
d) 121

62.

63.

64.

65.

w | W

5, 10, 20, 40 ...........
128087

(@ 7

(b) gth

(c) o

(d) 10m

3,10, 29, 66, 127, ?
(a) 164
(b) 187
(c) 218
(d) 216

2,12, 36,80, 150, ?
(a) 194
(b) 252
(c) 210
(d) 258

196, 169, 144, 121, 101 =1oft &1 Terd 3b

el ?

(a) 196
(b) 169
(c) 101
d) 121
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66.

67.

68.

69.

70.

Find wrong term in series 3, 10, 27, 4, 16,

64, 5,25, 125
(a) 27

(b) 10

(c) 64

(d) 125

Find the wrong term in series 2, 5, 10, 17,

26, 37,50, 64
(@) 17
(b) 26
(c) 37
(d) 64

Find wrong term in series 121, 143, 165,

186, 209

(a) 143
(b) 165
(c) 186
(d) 209

Find area of triangle whose sides are 3, 4

and 5 cms.

(@) 6 Sqg.cm.
(b) 88Sqg.cm.
(c) 98Sqg.cm.
(d) 12 Sq.cm.

A is 5 years elder than B. The product of

their ages is 66. Find age of A
(a) 8yrs

(b) 9yrs

(c) 13yrs

(d) 11yrs

66.

67.

68.

69.

70.

3,10,27,4, 16,64, 5,25, 125 907 &1 el
3 q13M ?

(a) 27

(b) 10

(c) 64

(d) 125

2,5,10, 17,26, 37, 50, 64 2 &1 7Terd aih
T R ?

(@) 17

(b) 26

fc) 37

(d) 64

121, 143, 165, 186, 209 A &1 TTeid 3iH
Ul Y ?
(a) 143
(b) 165
(c) 186
(d) 209

U st foraast 4o 3, 4 Td 5 A1 @
ST ST B ?

(@) 6T HH

(b) 8T HH

(c) 9adH

(d) 12T N

A, B ¥ 5 94§91 & | IT@! ST BT [UrHe
66 & | A P 3 Fdrail |

(a) 87qd

(b) 9ad

(c) 1374

(d) 1139

LP-DIS-I




71. Solve: 71. BADINY:
18 = 3(4+2)+8 + 2 18 +3(4+2)+8 +2
(a) 4 (a) 4
(b) 5 (b) 5
(c) © (c) ©
d 1 d N
72. Solve: 72. A DI
©- _, - _,
81+49+63 81+49+63
(@) 2 (@) 2
(b) 4 (b) 4
(c) 16 (c) 16
d) 9 d) 9
73. Find the next term : 73. ST 3l YT B
| 1
4 6,9,135 ............. 4,6,9,135 .............
@) 18 b) 14 @ 18 b) 14
20l dy | 21 4 20L d) 21 L]
(c) A (d) > (c) A (d) 5
74, How many primes are in between 100 and 74 100 3k 120 & wea fHal S RECIL]
120 27
(@) 4 (b) S (@) 4 (b) 5
(c) 6 d)y 7 (c) 6 (@ 7
76 Find the volume of hemisphere whose 75. WWWWWWWWé
curve surface area is 176 cm?. oot <) 2, 1 I S N |
(@) 170428 cm’ (@) 170428 cm’
(b) 17628 cm® (b) 17628 cm®
(c) 190,28 cm’ (c) 190,28 cm?
(d) 17'6£§E cm? (d) 176—‘?—8— cm?
[P-DIS-I 15|




Section—III (General Knowledge)

76.  Which of the following was the oldest  76. f=faifad # & B 9RA &1 & YR
dynasty of India NN EEE
(a) Maurya (@) Hrad
(b) Gupta (b)
(c) Kushana (c) <RI
(d) Kanva (d) &=
77. Gandhi's Champaran Movementwas for:  77. 71ell Sil &1 T¥URYI TG 1ol fdod HIROT 277 ?
(@) The security of rights of Harijans (a) cferdi & ARHRI BT Frem
(b)  Civil Disobedience Movement (b) = 3rasn am<Te
(c)  Maintaining the unity of Hindu society (c) f&=g ISl & Uehell DI g1 @
(d) Solving the problems of Indigo (d) sfem sfasl &) gaesh & gd
workers DNTAT
78. The Tropic of Cancer does not pass  78. @ W@l ffoilRad § | ®&l W &l Joivel!
through : B—
(@) India (a) WRd
(b) Egypt (b) fas
(c) Mexico (c) AfTd!
(d) lran (d) =
79.  Which dam of India is the highest : 79. ¥Rd H B9 Gl 91E Tad SHAT |
(a) Mettur (a) ifEES
(b) Rihand (b) Re=
(c) Thein (c) o=
(d) Bhakra d) Hr=ST
80. Which bank in India performs duties of  80. f=ifeiRad § & ®19 @1 §& d<w d &
Central Bank. A BT Tt HRAT 2 |
(a) Central Bank of India (@) H<g 9@ 3TH giosa
(b)  State Bank of India (b) T I P sfvsA
(c) Both (a)and (b) (c) < (a)Td (b)
(d) Reserve Bank of Inida (d) Rod § 3ifw o
| P-DIs-I - | 16




81 Nature of unemployment in agriculture of ~ 81. #Rd # Y B AT fow ugfa £l
Indiais : 2l
(a) Seasonal (@) #rEHl
(b) Disguised (b) e
(c) Both(a)and (b) (c) <Hi(a)Td(b)
(d) None of these (d) STHHBDIE AL
82.  Which one among the following has the 82, fr=ifeifaa & @ fa  Soil da aiferd
highest energy : B
(a) Violetlight (@) o
(b) Green light (b) B
(c) Red light (c) oAl
(d) Yellow light (d) drefigah
83. Who holds the power to remove or retire ~ 83. i1 ad! B AT B I1 BT DI
the Central Civil Servants : Ifdd B T &
(a) Prime Minister (@) gIFEHA
(b) Home Minister (b) TEHEA
(c) President (c) <rgufd
(d) Vice-President (d) ST
84. Where was the main Yoga Event (2019)  84. HIRd 3 & I $rieh¥ Hel AT foan
held in India. T A1 2019
(a) New Delhi (@) 13 faeel
(b) Ranchi, Jharkhand (b) I, IRETS
(¢) Mumbai, Maharashtra (c) Tj'%l'sf HENTS
(d) Varanasi, Uttar Pradesh (d) TRIURY, STR U=
85. Which footballteamwon the 2018-19UEFA 85, o feaTal €W A Afgs, W= # vl ar
(Union of European Football Association) 2018—19 JSUHY Afta=H o7 Sfiell |
Champions League for the sixth time in (a) foraRye
Madrid, Spain : (b) 3mETE
(a) Liverpool (c) aRidArT
(b) Arsenal d) Ruadfgs
(c) Barcelona
(d) Real Madrid
[P-D/S-I 17
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86. Which of the following countries has g6, Preiferiad <o # 9 fbae wkd P dd AR
agreed to accept the payment of export of eiferad STl @ frata @1 Sfer a1 fbl
oil and petroleum products to India, in rupee I &1 B 99 oI b T H WHR H
terms instead of dollar or any other R Al R D2 |
currency ? (@) &dd (b) ATE
(a) Kuwait (b) UAE (c) XM d) TP
(c) Iran (d) Iraq

87 Which of the following agencies/  87. Frefarfaa 3 A g Toidl/ | | AR
organizations decided to cancel 122 Wl?mﬁﬁ;l?ﬁqﬁﬁ&ﬁ S fu T
Licenses of 2G Spectrum issued by the 2 ol WagH B 122 AR ]S B DI
Government of India to various companies e fpaT 3R TREBR B g9 Ufsha1 &1 Y
and asked the Government to do the RR A B D Bl 7
process afresh ? (@) wWrRd @ HIF® 3ty ABTAEN
(a) Comptroller and Auditor General of I&D

India (b) WRd &I Hdied RATeTd

(b) Supreme Court of India (c) WRd P XEAR (HAHD gTferenRoT
(c) Telecom Regulatory Authority of India (d) R SE gfRed
(d) Confederation of Indian Industry

88. General Clients of various banks in India 88 e 3 A= St & arr ared et
can make a complaint to whcih of the 3 < fopg praters ¥ amell § FH A e
following offices, on the issues related to el R Rprd HR dd & St di B WR
deficiency in services which do not get REATEI B & |
resolved atbanks level ? (a) WRd® A IR HEIEl WD
(a) Comptroller and Auditor General of (b) WK d I SR

India (c) drhurd

(b) Attorney General of India (d) WRT T g R
() Ombudsman
(d) Indian Audit Bureau

89. The sensitive index of national Stock  89. aRE B AvEd Wid gad P
Exchange of India is popularly known as TeTeiie Gabid P ATB O B H ST
.................. SATE |
(a) SENSEX  (b) CRIS (a) E (b) IRIE TH.
(c) CSE d) NIFTY (c) WuHz. d) Fd

90. One kilobyte is equal to 90. UF fhciiage aRER |
(a) 1000bytes (b) 100 bytes (a) 1000a@ed (b) 100 drECH
(c) 1024 bytes (d) 1023 bytes (c) 1024 91EcH (d) 1023 4d1EcH

[ P-D/S-I l l 18|




91. Primary rainbow is formed when light 91.

suffers.

(@)

(b) One internal refraction before
emerging out of the drop
(c) Nointernal refraction
(d) Either one ortwo internal refractions
before emerging out of the drop
92. Study of earthquakes is known as 92.
(a) Ecology
(b) Seismology
(¢) Numismatics
(d) None ofthe above
93. Penicillin was invented by. 93.
(@) Dr. Jonas E. Salk
(b) Gregory Mendel
(c) Paul Ehrlich
(d) A.Fleming

94. Pressure cooker cooks rice faster because 94.

(@)

Two internal refractions before
emerging out of the drop

It always lets the steam escape

1oIfd $% G99 ST 8, A TBITH ...

Bl s/ & |

(@) U@ 4 ¥ aER fdem A U al
CIRIECARERE]

(b) U B g W TR Fde W Ul U
AR Juad

(c) IS AR uad el |

(d) T @l de A e Fda @ uge A
a1 T I1 &1 AR S AT

Yepvl} @ ST B PBEl S & |
(@) uTRRerf®!

(b) IHS
(c) dfavsfera
(d) T

YIR bR e Bl Aol A GBI & FT (D
(a) UE ENHY B e A1 |

(b) High pressure crushes the hard (b) $=d E41d FEA D HAR IAMARVT B
covering of rice grains. FAA A€ |
(c) Itdoes not letthe heatenergy escape (C) B HEI BN Gl B AT A Fiever
easily. TEigare |
(d) High pressure raises the boiling point (d) S gard Ul B FaUETE B e Al
of water. g |
95. Rabindranath Tagore is also known as. 95. I SR B 5 AH A W T AL |
(@) Guruj (@) THSI
(b) Gurudev (b) Tad
(c) Mahamana (c) ®HEMEAl
(d)  Netaji (d) =it
[Fos e = T




96. Oscar Awards are conferred annually  96. sl Jars¥ fFa gRT ufday w= g
by fban S & —
(@) Academy of Motion Pictures, Arts (a) V@SH 3ifp A R, andy ve
and Sciences, USA 1Y, YTy
(b)  Government of the United States. (b) YH IT5T MNP B IRPR
(c) Hollywood Foreign Press Association (c) Eielige Bive 0 vaReeH
(d) None ofthe above (d) SRIFH Y PIS 81
97. Which supercomputer is developed by the ~ 97. w1 F=1fal 3 & YW HFYER
Indian Scientists ? farepfRret faam 2 |
(a) Param (@) T
(b)  Super 301 (b) FUR301
(c) Compaq Presario (c) s IFRYy
(d) CRAYYMP (d) CRAYYMP
98. Which of the following is the most powerful 98, fr=ifdiRag & & #) @ HFYCR, qI¥
type of computer ? NIESHICIRS
(@) Super-micro (@) JR—ATSH!
(b)  Super Computer (b) YR FYeR
(c) Micro Computer (c) HIgH! TR
(d)  Mini Computer (d) A draex
99.  Rohinton Baria Trophy is associated with 99, f¥e= 3R e & ST |
(a) Football (@) W|edra
(b)  Hockey (b) &f
(c)  Cricket “Inter-University” (c) fbabe “gex FHaRiE”
(d) Inter-University sports and (d) srax—fvafiaey & @a asix
athletics veretfe Ry
100. Rare Earth Factory is situated at : 100. R 3rf Do) Fat Rerg 2|
(a) Allepey (Kerala) (@) v (BRa)
(b) Alwaye (Kerala) (b)  37efaT (B
(c) Ambemath (Maharashtra) (c) STERAIY (HERTE)
(d)  Avadi(Tamil Nadu) (d) g (ARTTg)
[ P-D/s-| e ] 20]
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